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Time allowed : 3 Hours] [Maximum Marks : 60
A: () TVH-FHATIEAG Seg s

Note : There are three sections A, B and C in the paper.

(i) QT QT g97 TEgr 1 F G 10 9771 & IR S0 | Iede YT Qe 37 F 8 Tq
T} 10 7 TGAE JHR F J771 & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) HFH & & 8 Fv1 4 8 fbgl 6 3¥71 & I IGT | e J97 3 3o FT 8 @&
391 5 SAT5/50 F1s5] 7 I T /

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QFF G & 6 3591 7 @ f561 4 3991 & I AT | I 597 8 37 &1 & U
377 15 S137/150 915l 7 3R 5w |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) Y% QFT & Y I91 1 FHAR Th G 5 BT |

Solve all the questions of a section consecutively together.
(vi) g1 97137 B 3= g ) 1T 7 3731 3rgare 8 e 8

Only English version is valid in case of difference in both the languages.

AR T
SECTION — A

I. () 00110101 1001 1100 T 2 ST HIFATE (TH) RTE ?

(a) 110010101100 1011 (b) 1100101001100011

(¢) 1100101001100100 (dy 110010101111 1111

What is the 2’s complement of 0011 0101 1001 1100 ?

(@) 110010101100 1011 (b) 110010100110 0011
M (c) 110010100110 0100 (d) 110010101111 1111

(1 of 4) P.T.O.
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et (Sererd) ST YOrTed! <1 SR 18 ?

(a) 2 (b)y 10

() 8 (d 16

What is the base of the decimal number system ?

(@ 2 (b) 10

(c) 8 (d) 16

g T frad Bl gfie 1 ar e g1 2, e 2 ¢

(a) MAR (b) PC

() IR (d) FHIBETE

The register that includes the address of the memory unit is termed as the
(a) MAR (b) PC

(¢) IR (d) None of these

31 % Efe Zawt # S |1 ATRIA S8 w2 7

(a) EAITSTeheT HTSShISTTRI (b)  FTHIMTIT HTSSHISTII
(c) T ATgshISTRIE (d) T HEAE

Which operation is extremely useful in serial transfer of data ?

(a) Logical microoperation (b) Arithmetic microoperation
(¢c)  Shift microoperation (d) None of these
frerferiiga 3 & v a1 et et TorT 1 IR TshE HE R 7

(a) THRA (b) T UigUR

(c) T R (d) o A R
Which of the following computer register collects the result of computation ?
(a) Accumulator (b) Instruction pointer

(c) Storage register (d) None of the above

31 SIS B1 FRITA St o5 For Foriror gehTs o Sea=t et B 7

(a) Transfer signals (b)y Command signals

(¢) Control signals (d) Timing signals

What does the control unit generate to control other units ?

(a) Transfer signals (b) Command signals

(c) Control signals (d) Timing signals

ST 1 THAT T AT R TE R -

(a) 3rETEl v (b) ST WS

(c) dfe (dy v

The only language which the computer understands is

(a) Assembly Language (b) Binary Language

(c) BASIC (d) C Language
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(viii) TTSSR! ST B -

(a) HTSSRI-H H T JIITH T AT

(b)  gem et o1 T S weia wre s 3 Fare 4 Y Tare ol TRy e 2

(c)  ITeeett o T | Sed Ashist 1 Ueh STfieh &9

(d) T HIe 1 TF T80 BT T

Micro program is

(a) The name of source program in microcomputer.

(b)  Set of micro instructions that defines the individual operation in response to a
machine language instruction

(¢) A primitive form of macros used in assembly language programming
(d) A very small segment of machine code

(ix) T b TiSd SO o 2 HT 3TN HLT 2 -

(a) Indirect addressing (b) Two addressing
(¢) Zero addressing (d) Index addressing
A stack organized computer uses instruction of

(a) Indirect addressing (b) Two addressing
(¢) Zero addressing (d) Index addressing

(x) Trfefaa @ @ s o e 3o § wda s | gda i o dw wEar e v

(2) TR (b) TZE TR

(c) T HIE3X (d) sso TRt

Which of the following register keeps track of the instructions stored in the program
stored in memory ?

(a)  Accumulator (b) Address register
(¢) Program counter (d) Index register (1x10)
Qo — &t
SECTION - B
2. TS 8 T ATTd B 7
What is meant by overflow ? 3
3. 1'sIRdie 3R 2°s Hivcfie & sie T & |
Distinguish between 1’s and 2’s complements. 3)
4. fafv= s 3 firde wTgsht TR & T Tieg 1 |
Enlist names of different arithmetic and shift micro operations. 3)

5. 3IE-3M3YL 3TN L & 319 F1 THA B ?

What do you mean by Input-Output and Interrupt ? 3
6. ST SIS R 7 THIATSY |
What is assembly language ? Explain. 3)

P.T.O.
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7. et HEIT O 379 ST gHed B 7

What do you understand by control memory ? A3
8. T WS H1 R 7 WF & TaY U Hral i gelag e |
What is stack organisation ? Enlist functions regarding to stack. A3

9.  STeTZEw FET § AT o WA & 7 T1eT et Fdwt % A wefiag 6 |
What do you mean by data transfer instructions ? Enlist names of data transfer
instructions. A3)

e — df
SECTION - C
10. (i) fafciea gearefane aeast ) sfeed & 5o -
Convert the following hexadecimal numbers into octal :
(@) (641A)16=( )g
(b) (ABC)6=( )3 ®)
(i) TrefcTRad SR 7o e
Subtract the following binary numbers :
10110.1-1100.01

11, S A35h! ST & FTEIA BT 1 G0 L | B 2ael 6 Te™dr § AND,
OR, XOR 3R NOT GATE % |1 3927 foht ST amet wiifores wfbe 3 Toh =RT 7 3@
A |
Describe the hardware implementation of logic micro operation. Draw the diagram of

one stage of logic circuit used with AND, OR, XOR and NOT GATE with the help of
function table. 8)

12, ST WIEHhel § 19 1 T3 & 7 36 ol =1 31 ATSshT SHToerg & &1 gwesy |

What do you mean by interrupt cycle ? Explain with its flow chart and micro
operations. (8)

13. WS § 379 1 THAA B ? Yeedld I IR Tikd TR |

What do you mean by subroutines ? Explain subroutine with example. 8)

14, STYHR IRE i HETH H 818 e 3R ATk T Shgted Ffre B qor |
Compare the hard wired and micro programmed control unit with the help of suitable
diagram. 8)

15. fafy= fds yredl o) faear & aaemee |

Explain different instruction formats in detail. )



